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Place an “X” if Closed N=ans (if no indication, we’ll assume Open 8723) 131 of the L tlmeS 1St 7m2?

Please email or fax your completed m2°m2 using the contact info above by Monday, December 4, 2017 and we’ll send it back marked, 1™2.
All scores 90 or above will receive a financial incentive in the form of a gift certificate. Any comments, suggestions or corrections would be
appreciated. Copies of these tests and answer keys can be obtained by contacting us or by download from our website listed above. Initially,
the “questions only” test will be posted. A few weeks later, we will post the “question/answer” sheet. Please write clearly and use only black ink.
Unless otherwise indicated, all questions are based on >""w=\x=2s.

This week’s 71°na starts at five lines from the bottom of :»° 97
and ends eight lines from the bottom of >7730 >wInKk> :3 97...

1. 701 22 J0°1% A0 VTR L,R2PW 17 102 19w, The 778 which precedes j0°1, whether the year is
TWws and there is only one 77X, or a leap year, "Iw 77X, is always 10m, 29 days.

The 73wn on :X2 A7 says, *Wn %31 10°1 Yy ,naw:a DR 7°7°0 oowIn S oy,

A) According to the initial understanding of the X923, why would the 71wn allow 27V to be
naw Y5nn for the months of j0°1 and »wn?

B) According to the first version of 111 27, why does this 73wn imply that the 10°1% 7107 978
is sometimes 1on and sometimes X217 (This would be a question on the opinion that 71077 77X
10°1% is always 10m.)

C) How does the X7 n3 answer this question?

2. A) According to the second version of 2m1 29, this 71wn is problematic according to the
opinion that says that the 70°1% 71107 97X is sometimes 1017 and sometimes X2, Why,
according to this opinion, would naw 91%°11 not be necessary?

B) How did the X273 answer for this opinion?
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3. A) The mwn on :X2 A7 continues, ... 1212 %Y AR 19900 ,0°°p wIpnaws. Why?

B) What question did X172 21 ask based on this clause of the miwn?

C) What is the X73’s conclusion regarding the opinion that 2017 229 J0°1% 707 77X,

4. When X9 came from HXw° 7R to 923, he said that they made X972 919 (30 days) for the
benefit of 922 °12.

A) To what benefit was X2 referring?

B) What did X1°117 92 XnX 27 say is the benefit?

C) What did the X7n3 initially think the practical difference is between these two opinions?

D) Why did the X713 reject this as being the practical difference?

E) According to the conclusion of the Xn3, what is the practical difference between these two
opinions?
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4. F) Why wasn’t X2°111 92 XX 27 concerned about X?19°s benefit?

G) Why did X7 say that 21%& was made &9 for the benefit of 722 °12? Why was it more
beneficial for them as compared to HXw° K °12?

5. PX¥Aw 12 127 taught the following 8n°>1a that said, 1°72vn 72 782 7IW0 DR PavAw awd 719°
WIPY IR 71D ,20WTN WRI 237 17 WINT MR Tnbn 7R wIna nX. This seems to contradict
X?¥ who said that 17 n°2 made X571 919% for the 7713 of %22 012 (#4).

A) How did 27 (x27) answer for X?1v7?

B) w1 O¥ 227Y7 ¥ 1RORA PRI 12V 13872 ORI WINT 2V 22TV 0V PRORN M9 12 YT 027 R
WTPY 1112 1R8N XYW, Does this support or contradict (27) X277

C) Our & n3 asks on 27 (X27) from the following. Py 17 7K 2299 AR8WI 7717 %27 7% 7OW XM
IR ROW 59 DY AR WTP? 13AT2 IR ROW WA DY 2TV 0V 1RORN L 13T7A97 1700 130 020 D 1R Dow
1R 1MR°. This teaching of jamY° °27 seems to contradict 17 32 ywi° °27’s. How did *°aR
resolve this apparent contradiction?

6. A) Which of the following statements are true according to 2>nR?
a) A non-leap year is always 354 days.
b) A leap year is always 383 days.

c) The twelve months of the year always alternate between 29 days and 30 (except 1w 77X
which is always 29 days)

d) All of the above.
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6. B) x27 offers another resolution to the question that X7v seems to contradict PX1aw 92 729
(#5). What was this resolution?

7. According to Xy7773n "»°7 20...

A) Can 17 n°a make a month 107 if 2>7v did not see the moon on the 30t"?

B) Can 77 n"2 make a month X7 if 2>7v did see the moon on the 30t"?

C) What is X¥797711 "1°7 27°s reasoning?

At face value, *"w1’s explanation on the x°x0 of the 791 is difficult. This test will only cover the surface of this x°x0
based on the simple reading of *"wn. Artscroll has an in-depth discussion of >"w2. One also might be interested in
seeing the mxnn Sv2 who learns this xnax very differently from »"wn. His explanation has many ramifications
regarding the m>%71 of the international date line. Artscroll discusses the mxn»i1 9v2 in its appendix.

8. According to"'v ...

A) W 1A O 290 RITW TR0 09w ,R°T 20 2290 0. What do the words 21 799 Riw 70
wInT 37 mean?

B) How long before the 7211 is the old moon not visible to anyone in the world?

C) How long after the 791 is the new moon not visible to anyone in the world?

D) Based on this, if the 791 happens after we know that it is false testimony if a
person claims that he saw the moon before sunset.
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9. According to "v1...

A) at any location on the earth, what is the minimum amount of time between when one stops
seeing the old moon until he can see the new moon?

B) 17°7%, for %22 °12, how many hours before the 7911, do we stop seeing the old moon?

C) 17°7°, for %22 13, how many hours after the 7211, does it take before we can see the new
moon?

D) 1177°79, for "X ¥ 13, how many hours before the 7911, do we stop seeing the old moon?

E) 117°7°, for PXw° ¥ °13, how many hours after the 7910, does it take before we can see the
new moon?

Please feel free to add any questions/answers, M1y or headlines of the n o from this week’s 77

Utilize our Shoel U’meishiv online at http://www.dafaweek.org/discussion-forum

Let’s plan to be m39p the nog» focusing on a simple 737mm of just the X w1 Xopw inside:
Were you able to make a few minutes every day for an immediate s9tr of the portion just learned?

Were you able to make time on naw or Sunday to do a 7= of the f7?
Were you able to make time on naw or Sunday to do a m=n of the last 3 2953?
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